WARIBAI | AR ER
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B AThESEX2 &R % = HR HEHX3
2528 %)) BHA R2.2.8 FRTE -
15(2.0) FF R AR Jz R2.2.8 FRTE -
15(2.2) KEHA R2.2.8 FRTE -
250 BERE YA AT AR R2.2.8 FRTE -
15+22(3.03H%K)) FF $ A 22 R2.2.8 FRTE -
25((3HK)) BEAA R2.2.8 FRTE -
15(1.6) ENA R2.2.8 FRTE -
15(1.5) FF R AR Jez R2.2.8 FRTE -
1531.1) BENA R2.2.8 RE -
1230.1) flAN A R2.2.8 FRTE -
45(4.5) BISLARDN A R2.2.8 FRTE -
12(2.4) A A R2.2.8 FRTE -
15(0.6) A A R2.2.8 FRTE -
12(2.0) ENA R2.2.8 FRTE -
15(3.5) fA A R2.2.8 FRTE -
15(4.5) ZLAA R2.2.8 FRTE -
12(2.0) BN A R2.2.8 FRTE -
15(1.8) BISLARDN A R2.2.8 FRTE -
12(1.5) fiAA . RIEHNA R2.2.8 FRTE -
1501.7) BISLARDN A R2.2.8 FRTE -
15(3.2) BISLARDN A R2.2.8 FBTE -
15+25(3.3(& H)) BENA R2.2.8 =BAE -
15(1.8) SFENA R2.2.8 =BAE -
15(3.0) KiEH A R2.2.8 =BAE -
350 BISLERA A R2.2.8 =BAE -
15(3.7) BISLERA A R2.2.8 =BAE -
15(1.5) BENA R2.2.8 =BAE -
15(2.4) BEBE A A R2.2.8 =BAE -
15(1.5) BEBEA A R2.2.8 =BAE -
25(&R) BEBEA A R2.2.8 =BAE -
15(1.4) REHA R2.2.8 =BAE -
1531.7) KiEH A R2.2.8 =BAE -
25((1H&)) fA A R2.2.8 =BAE -
15(3.0) BENA R2.2.8 =BAE -
15(3.0) fAA R2.2.8 SO AL -
15(2.8) BISLERA A R2.2.8 =BAE -
15(3.4) OEAA R2.2.8 =BAE -
15(1.8) fAA R2.2.8 =BAE -
4=(3.4(108 1)) BENA R2.2.8 SO AL -
12+22(3.32B #)) HELHAA R2.2.8 =BAE -
15(1.8) BISLERA A R2.2.8 =BAE -
15(2.0) fmAA R2.2.8 =BAE -
15(2.5) BN A R2.2.8 =BAE -
15(2.0) KiEH A R2.2.8 =BAE -
15(1.9) BN A R2.2.8 =BAE -
12+28(4.718%#)) BHFE R2.2.8 =BAE -
12+22(4.7(3A#)) HREEA A R2.2.8 =BAE -
15(2.6) KiEH A R2.2.8 =BAE -
12+22(3.2(48 %)) ZLAA R2.2.8 =BAE -
15(2.0) BISLERA A R2.2.8 =BAE -
12+28(4.201 B#)) BEBEA A R2.2.8 =BAE -
25((1HK)) BENA R2.2.8 =BAE -
25((1HK)) fA A R2.2.8 =BAE -
25(&R) [RHETEANA (BEEHE) R2.2.8 =BAE -
15(1.0) BISLERA A R2.2.8 =BAE -
15(1.8) E/NE R2.2.8 =BAE -
15(4.0) AMEREaMmE R2.2.8 =BAE -
15(3.0) EY/NE R2.2.8 =BAE -
15(1.5) EY/NE R2.2.8 =BAE -
1531.7) KRB BEIK TAE R2.2.8 =BAE -
15(1.5) SN EERA R2.2.8 =BAE -
350 TR R f2 R2.2.28 =BAE -
15(3.5) TR R f2 R2.2.28 =BAE -
25(2HK)) N A R2.2.28 =BAE -
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B A B2 el = BR | mexs
25((1HK)) BNA.ELA R2.2.28 =BAE -
15(2.8) TR R f2 R2.2.28 =BAE -
15(2.2) TR R f2 R2.2.28 =BAE -
25(2HK)) EENA R2.2.28 =BAE -
15(2.5) KiEH A R2.2.28 =BAE -
15+254(01 81%)) ZLAA R2.2.28 =BAE -
15(1.3) HELHAA R2.2.28 =BAE -
12+22(4.6(1 B %)) BENA R2.2.28 =BAE -
25((4HK)) BEBEA A R2.2.28 =BAE -
15(3.3) BEBE AN A BIILARDSA R2.2.28 =BAE -
25((4HK)) BISLERA A R2.2.28 =BAE -
12+28(4.71 %)) BISLERA A R2.2.28 =BAE -
15(2.5) BISLERA A R2.2.28 =BAE -
15(1.8) BN A R2.2.28 =BAE -
15(1.5) BIKERA A R2.2.28 =BAE -
15(1.8) KiEH A R2.2.28 =BAE -
25(2HK)) BISLERA A R2.2.28 =BAE -
15(2.0) A A, ELAA R2.2.28 =BAE -
25((1HK)) KiEH A R2.2.28 =BAE -
15(1.5) BISLERA A R2.2.28 =BAE -
25(&R) INEAA R2.2.28 =BAE -
15(3.0) BEBE A A R2.2.28 =BAE -
15(1.8) KiEH A R2.2.28 =BAE -
25((1HK)) ZLAA R2.2.28 =BAE -
15(3.3) AN A R2.2.28 =BAE -
25(2HK)) KiEH A R2.2.28 =BAE -
12+22(4.3(3A %)) fAA R2.2.28 =BAE -
45(3.6028 1)) KiEH A R2.2.28 =BAE -
25(2HK)) ZLNA R2.2.28 =BAE -
15(2.8) BISLERA A R2.2.28 =BAE -
15(3.0) ZLAA R2.2.28 =BAE -
15(2.5) KiEH A R2.2.28 =BAE -
15(3.0) AN A R2.2.28 =BAE -
15(3.0) AN A R2.2.28 =BAE -
15(2.4) BISLERA A R2.2.28 =BAE -
15(0.7) KiEH A R2.2.28 =BAE -
15(1.3) BIKERA A R2.2.28 =BAE -
15(1.7) fAA R2.2.28 =BAE -
15(1.5) KiEH A R2.2.28 =BAE -
15(1.5) KiEH A R2.2.28 =BAE -
15(2.9) IS IEN A R2.2.28 =BAE -
15(3.5) ZHREERE R2.2.28 =BAE -
15(3.4) ZHREERE R2.2.28 =BAE -
15(0.9) AMEREamE R2.2.28 =BAE -
25(2HK)) S4B A IR R2.2.28 =BAE -
15(2.4) [REF MR IR R RE ST HEAE R2.2.28 =BAE -
15(1.6) SN EERA R2.2.28 =BAE -
15(1.3) IDEIEE R2.2.28 =BAE -
15(1.5) TSR 2% R2.2.28 =BAE -
151.7) BIRERA A R2.3.27 =BAE -
15(1.1) EMA R2.3.27 =BAE -
15(1.5) TR R f2 R2.3.27 =BAE -
25(2HE)) EMNA R2.3.27 =BAE -
1531.7) FEENA R2.3.27 =BAE -
15(1.0) BN A R2.3.27 =BAE -
15(3.0) BISLERA A R2.3.27 =BAE -
15(3.0) KiEH A R2.3.27 =BAE -
152.7) HREEA A R2.3.27 =BAE -
15(3.2) BEBEA A R2.3.27 =BAE -
15(5.0) REHA R2.3.27 =BAE -
12+22(3.128#)) ZLAA R2.3.27 =BAE -
15(1.5) FREEE R A A R2.3.27 =BAE -
15(2.0) RERERER A AE R2.3.27 =BAE -
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3 + J
B A B2 &R % = R X3
15(1.4) INEIA R2.3.27 =BAE -
25((BHK)) LA R2.3.27 =BAE -
15(2.5) BISLERA A R2.3.27 =BAE -
15(2.0) BIKERA A R2.3.27 =BAE -
15(1.7) BISLERA A R2.3.27 =BAE -
15(2.3) KiEH A R2.3.27 =BAE -
15(1.0) fAA R2.3.27 =BAE -
15(3.5) KiEH A R2.3.27 =BAE -
15(2.7) KiEH A R2.3.27 =BAE -
15(3.6) BIRERA A R2.3.27 =BAE -
15(1.5) AN A R2.3.27 =BAE -
15(1.6) AN A R2.3.27 =BAE -
25((4HK)) BEHNA R2.3.27 =BAE -
15(1.6) ZLAA R2.3.27 =BAE -
15(1.3) BN A R2.3.27 =BAE -
15(2.3) ILAA. BHA R2.3.27 =BAE -
25(2HK)) KiEH A R2.3.27 =BAE -
25((3HK)) KiEH A R2.3.27 =BAE -
15(3.0) BISLERA A R2.3.27 =BAE -
15(3.0) BENA R2.3.27 =BAE -
15(3.3) BISLERA A R2.3.27 =BAE -
1501.7) EHENBEIRE R2.3.27 =BAE -
15(1.6) IDEIEE R2.3.27 =BAE -
15(4.1) H?ﬁ\iﬂ - R2.2.8 FAIED 1
= . SIKEEERE.
25(78%)) SR IT B R2.2.8 T 1
UIBRARERREE.
15(4.8) RS ERTIE. R2.2.8 T 1
ifggii‘%ﬂiﬁ (Th12)
28((128#)) Hg% E;B;";ﬁg R2.2.8 T 1
15(4.0) BEDS5#E R2.2.8 T 1
15(4.0) FF B e R2.2.8 T 1
45(6.0) B AR R2.2.8 T 1
15(5.0) R L RE R2.2.8 T 1
15(5.5) [ 14 e R2.2.8 T 1
25(681)) B, BEi R2.2.8 T 1
25 (8B ) B AR R2.2.8 T 1
350 B R2.2.8 HT 1
PN
25((118%#)) fhERs . R2.2.8 SIS 1
= P BIIAHRIZE. = T .
15(4.7) EELE R2.2.8 T 1
15(1.6) SREE B A (REEM /MR M) R2.2.8 HT 1
15(2.0) A BE M4 I /)N AR I JE R2.2.8 SIS 1
15(2.2) FFREZE R2.2.8 FAIED 1
15(2.7) RENARF LG R2.2.8 SIS 1
A=(E1ED) IDEIEE R2.2.8 T 1
1501.2) Hixi 8 i R2.2.8 AT 1
15(1.5) EEHA R2.2.8 T 2
15(2.0) IRV PIA R2.2.8 T 2
15(1.3) BISLAREESELD R2.2.8 FAIED 1
15(2.5) Bl K BR A BE ST HESE R2.2.8 FAIED 1
25108 %)) B AR R2.2.28 FAIED 1
15(3.8) bt R2.2.28 T 1
25 (681)) & R2.2.28 T 1
25((118%)) B R2.2.28 T 1
25((128 %)) BHRERE. REE R2.2.28 FAIED 1
154.7) EBE R2.2.28 FAIED 1
15(4.0) MESERE R2.2.28 SIS 1
15(6.5) EHENBEIRE R2.2.28 T 1
25108 %)) EHENBEIRE R2.2.28 T 1




FIRFERIX1 . HIRE |, ZEEBR-AT + .
B A T2 kil a BR | BEx3
15(3.8) 2/ \ME e mE R2.2.28 SIS 1
15(5.0) ARt /& R2.2.28 T 1
350 =Y NE R2.2.28 AT 1
350 FFRE 2 iE R2.2.28 T 1
12+22(3.8(1 B #)) DAE R2.2.28 AT 1
25((3ER)) SMOHEE R2.2.28 FAIED 1
1501.4) Bz R2.2.28 AT 2
12+22(4.5(1B#)) E3E R2.2.28 AT 2
15(4.0) HELE R2.3.27 T 1
350 TR R f2 R2.3.27 T 1
15(6.5) BHERE R2.3.27 T 1
15(2.5) fEEn T KRR IE R2.3.27 SIS 1
25 (681)) EE5E R2.3.27 FAIED 1
15(7.5) SKEREE R2.3.27 AT 1
25108 %)) N R2.3.27 T 1
15(4.1) B AR R2.3.27 T 1
15(4.0) ZHREERE R2.3.27 ;T 1
350 Bl K R RE ST HESE R2.3.27 FAIED 1
12+22(4.6(28#)) mERNE R2.3.27 AT 1
25 (28 #)) RIBMS D EIEE R2.3.27 FAIED 1
15(3.6) (BHOHEE) B RS R2.3.27 T 1
12+28(2.31B#)) XKHELE R2.3.27 AT 1
25((1081)) WA —TI R R2.3.27 S 2
15(2.0) ﬁu_LH?Fn R2.3.27 FAIED 2
15(3.1) BREEUES R2.3.27 SIS 2
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